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tUkhd tup 

xU Fwpj;j egu; jdJ Mz;L tUkhdk; xU Fwpj;j vy;iyia jhz;Lk; NghJ 
murhq;fj;jpw;F nrYj;j Ntz;bat tup tUkhd tup MFk;. 

 

cjhuzk; 

& 875 000 Mz;L tUkhdkhf ngWk; xUtUf;F Kjy; & 500 000 ,w;F 
tuptpyf;fg;gLtJld; mjw;F mLj;j & 500 000 ,w;F 4% tupia mwtpLnkdpd; mtu; 
nrYj;j Ntz;ba tUkhd tupiaf; fhz;f. 

 

              tUkhdk; = & 875 000 

             tuptpyf;F = & 500 000 

                / kPjp = & 375 000 

 

         / tUkhd tup = 
4

100
 x 375 000 

                     = 
4

1𝜙𝜙
 x 375 0ϕϕ 

                     = & 15 000 

 

 

 

 

 

 

,uz;lhk; thuk; 
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gapw;rp 01 

 

 

 

 

 

 

 

 

 

,ilntsp epug;Gf. 

 

 

 

 

 

 

 

 

 

 

ngWkjp Nru;f;fg;gl;l tup (VAT) 

xU Fwpj;j nghUspd; nfhs;tpiyapd; NghJ my;yJ Nritapd; NghJ mjd; nkhj;j 
ngWkhdj;jpy; xU Fwpj;j rjtPjk; ngWkjp Nru;f;fg;gl;l tupahf mwtplg;gLk;. 

 

 

 

 

 

Mz;L tUkhdk; tupr;rjtPjk; 

 
Kjy; & 500 000 

 
tuptpyf;fg;gl;lJ 

 
mLj;j & 500 000 

 
4% 

 
mLj;j & 500 000 

 
8% 

 
mLj;j & 500 000 

 
12% 

Mz;L tUkhdk; tUkhd tup 

 
1. & 750 000 

 
………………………… 

 
2. & 950 000 

 
………………………… 

 
3. & 1 225 000 

 
………………………… 

 
4. & 1 500 000 

 
…………………………. 
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cjhuzk; 1  

xUtUila Fwpj;j xU khj njhiyNgrp fl;lzr; rpl;il & 3000 MFk;. mjw;fhf 
15% ngWkjp Nru;f;fg;gl;l tup mwtplg;gLk; vdpd; mtu; nrYj;j Ntz;ba njhiyNgrp 
rpl;ilapd; nkhj;j ngWkhdk; ahJ? 

Kiw 1     ngWkjp Nru;f;fg;gl;l tup = 
15

100
 x 3000 

                           = 
15

1ϕϕ
 x 30ϕϕ 

                                                      = & 450 

  nrYj;j Ntz;ba nkhj;j fl;lzk;  = & (3000 + 450) 

                               = & 3450 

 

 

 

 

 

 

 

 

gapw;rp 2 

1. & 2500 ngWkjpahd nghUnshd;iw nfhs;tdT nra;Ak; NghJ 13% ngWkjp 
Nru;f;fg;gl;l tup nrYj;j Neupl;lhy; mtu; mg;nghUis tpw;Fk; tpiyiaf; 
fhz;f. 

2. xU tPl;bd; khj njhiyf;fhl;rp rpl;ilapd; ngWkjp & 2500 MfTk; ngWkjp 
Nru;f;fg;gl;l tup 4% MfTk; fhzg;gbd; rpl;ilf;fhf nrYj;j Ntz;ba nkhj;j 
njhif ahJ? 

3. xU fk;gdpapd; njhiyngrp rpl;ilf;fhf 15% ngwkjp Nru;f;fg;gl;l tup 
mwtplg;gLfpd;wJ. mf;fk;gdpahdJ nkhj;j fl;lzkhf & 2875 I nrYj;jpaJ 
vdpd; ngWkjp Nru;f;fg;gl;;l tupapd; Kd; rpl;ilapd; fl;lzk; vt;tsT? 

4. ghlEhy; gapw;rp 14.1 (11 – 16 tiuahd tpdhf;fs;) 

  

Kiw 2       = 
115

100
 x 3000 

                   = 
115

1ϕϕ
 x 30ϕϕ 

                   = & 3450    

 


